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AT THE END OF FIFTH SEMESTER
' (CBCS PATTERN) DEGREE EXAMINATIONS |
| COMMERCE
COST ACCOUNTING
}Cofnmon For B.Cbm‘.(General), B.Com(Vocational))

(From The Admitted Batchr of 2015-16)

/

me : 3 Hours . Maximum : 75 Marks

SECTION - A_ | -
Answer any Five queétions. - (5%5=25)
1. Limitations of cost Accounting. l
5505 ©F oo o) HBEoe.

2. Stores ledger

Rt (RE8)) esisep.
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Reasons for labour Turnover.
[FRohe ESHS mk> s,
Machine hqur rate.

foerth oo T:Sé.;;

Fe_afureslof ] qb cbsfiﬁg. :

&3’5 S*Qon B 0§Wm

. Normal and Abnormal loss. ‘
P 0a%> SRGeEw Sipen
What is meant by Bxeak—eireh Anﬁlysis?
B8 &35 DB I 7331:?
Objectives of standard costing.
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SECTION - B

Answer all the questions. , (5%10=50)

Unit-I

1. a) Whatis meant by costing. Explain its nature
| and scope. |

sv?goﬁ OIMTID? oo &) ése.rav.i& B
DOHY 1) DSBoSoR. | :

(OR/8ar)

b)  You are required to prepare a cost sheet,
calculate percentage of work on cost to wages

& office overheads to works cost from the
following: '
Rs.
; Materials i 67,200
f Purchas;as 2,59,000
: Salaries ' 17,640
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Salesman Salary

Depreciation on furniture

Wages

" Directors fee
Closing raw material
Gas water

Transport charges
Ggrieral expenses
Sales

Depreciation én plant
Carriage inwards
Carriage Outwards
Office rent

Postage

l)rawings

10,780
420
1,76,400
3,400
87,920
1,680
2,940
4,760
6,35,000
9,100
4,060
9,100

12,010
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Bros DSoroh Sah DBLES sotrs 2%, SHreit
i 56y g0 P T80 , 58y oo p Toch
£.56 2rle 2805 Orvd DSore o) SEpisot.

.
Dhoad) 67,200
Bt . 2,59,000
Eooen 17,640
A@a’nééomii: &80 ‘ 10,780
$OYSHD S 420
Ssaren | 1,?6,409
Eaéé fw - 8.400
SN0y Sod ;smga 87.920
s S8t B 1,680
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CRY S | | - 6,35,00(
' §°;6>ﬁ°e:o Baoese 4,060

éaéog@o Eawege Lo 9,100

| RS A0S o8 Saers rrid o o 3 :

g5 gy (CB-BCStacy,
GEPW ﬁ"éw ' : Sk 2:940

5»5?6@ PEYHen . 4.7 «

otn B Srdte 900

D% (éawv) | _ 580
Rrosarisren BT 1,000

Unit-II

; , . e oy
Briefly explain various methods of I
materials issued from stores to Jobs.

oK Q) Q_‘om JHB0S0A.
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(OR/8r)

b) Prepareastores ledger statement from the following
particulars adopting weighted average method &
First in first out methods of pricing of issues.

2012
Jan 1
Jan 3

Jan 4

Jan 12

Jan 15
Jan 16
-. Jan 20
Jan 28

Jan 3¢

Opening Balance 500 units at Rs. 25 per
unit ,

Issues 250 units
Purchases 200 units at Rs. 26 per unit

Retum from a work order 15 units of Rs
24 per unit

Issue 18 units

Stock verification reveals loss .of 5 unifs.
Purchases 320 uhits at Rs. 30 per unit
Stock Verification reveals a loss of 8 units |

Issues 112 units.

[T_um over
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2012

380 1 (@0l Jeg : 500 Sordey, dipge
g, 25 S

2550 3 arben 250 iy
3350 4 SHe 200 chrdey, 18 8, %55

w550 12 38 635 ©00 wsmen 15 dwrdy!
&, 24 PGPS, “

:
3

2380 15 erben 18 chedey

=S50 16 3% S 6 EHPS0aS S50 5

8350 20 SR 320 akrdey, 1 8 &= N
w50 28 560% $0PE® STl Sgo 8 8

2050 30 epben 112 dkwdey,
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Unit-III
; | a) Explain different methods of remunerating labour.

[FRHeoH 390D $8 Herd) B0 DG BB
58y DSBS,

- (OR/8r)

4 b) A company has three Production departments

A.B,C and two service departments P & Q. The
following figures are Available as per departmental

distribution summary. '

Depértrrie‘nts - " Rs.

B 3 3150
o o 3700
i s . 1400
A i 908
Dl iy 1000

[Tum over
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The expenses of service department are
apportioned on a percentage basis as f““frqf
A ‘B .C P

Service Department P 40% 30% 20% - 1
| |

 Service Department Q  30% 30% 20% 20%.

Prepare a statement showing the distribuis
the two services departments expensestof .
- Departments by simultaneous equation el

w&&wmwmﬂﬁﬂ
B0 D Jgrrren P Sdaim Q o 50
Do SodA2 o050 I T

Paboas.

3@!‘!‘@3 Ex.
A 3150
B 3700
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C 1400
P 2250 .
9) , 1000

VT Jgrrre PENOKD Bﬁ)éﬁ)cﬁm&é B0 RSO

S0l FahEDss.

Ao B €. B0
P-2erito 40% 30% 20% - 0%
Q-erifo 30% 30% 20% 20% -

Botd> Hae VPre PERODH HrH S8)8 Jermrot
BoDBD FHOP B8 ssega@ﬁ DIBED SeHoa,

Unit-IV

‘What do you mean by By-products and Joint

Products? Explain the differences between them?

6D a&%en $H5aky alyd afRe OSrIN? T8
385 1o By Doos0l.
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(OR/So)

b) The product of a manufacturing Concen
through three processes A, B and ¢ ™ |
following particulars, prepare process sl

Rs.

Direct Materials | 17,000
T wages 13,000
Product Overheads 8,000
Output (In units) 4,750
Normal Loss 5‘;/0
Value of Sérap Rs. 5
(per unit)

Input to process A 5,000

(units)

Input to Process A Rs.50,000 -

(Value)

8,000

Rs.

20,000

7,150
4.200
10%

Rs. 20
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o8 Scied B0 T BH 8K SureHy BFITen A, B
spc C o Mot Sdgedecon. HrSd0AD
sgmirdo $00 [DFRR grevoh aird Bapod.

: (5555 o)
Py Isared
6$)8 £56 TG
6$)8 (crens®)
i FLroe SHo | |
? &) Denid

i (05DeS 18)

i BFR5 A S0

| S596 (i
;@e?"s‘A’ 26053‘

5085 (Deus)

&, &.
17,000 .20,000

13,000 8,000

8,000 7,150

4750 4,200

5% 10%

Rs.5 .  Rs. 20

5000 i

Rs.50,000 -

RS -A 5 -B @35 - C

.
25,000

9,000

8,210

3,750

15%

Rs. 25
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Unit-V

Discuss briefly the various types OfVanance;

in standard costing.

DrErdE SRoR & adERAT S it

Ky HJore IRyosol.

| (ORléw')

The sales and proﬁt durlng the years wa

follows:

Year | Sales (rs.) : Profit (Rs.). |
2017 2,40,000 30,000 :
2018 f 2;70,0"00 42,000
Calculate:

a)  P/V ratio

b) Break even sales

©)  Profit when sales are Rs. 1,50,000

8
Sales required to earn g profit of Rs?

d)

(14) [CB-BCS12/cpy,
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8.8 $0 @RS MO ergroty BHBIKHEDHIB.

50&’)65360 @é)égw - erglo
&, &

2017 2,40,000 30,000

2018 . 2,70,000 42,000

a) ot HO% 8.
b)  ieee; SOFSS Dothid S esiyses
c) oSyseen E. 1,50,000 @00 9203 ergfo.

d) 8 57,000 o0 er@fo SoJBosHeEs M
odYsTOD '65&0'::50&.'




